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No. 2019/HQ/HR-1/(ii)/RTI/ Pt.(201900084)

Sub: A

Dated: 14.02.2019

lication of Shri Naveen Kumar Gupta, R/o Rajasthan, under RTllAct-ZOOS.

Reply to RTI No. 132

5.N | Information Sought For: Proposed Reply/Remarks
I want to know my marks which is .
1 obtained in Executive/Civil in CBT under | Your question booklet along with correct
: Advt. No. 11/2018 which is held on answer keys indicated there is enclosed.
10/11/2018. : :
Also | want to know corrected answer key o o :
5 of Executive/Civil in CBT under Advt. No, | 1'® details are already available on

11/2018 which held on 10/11/2018.
Roll No. - 27061020704,

DFCCIL's website www.dfccil.gov.in.
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Section : General Knowledge
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Question ID : 1860451872
Status : Answered
Chosen Option : 1

Question ID : 1860451875
Status : Answered
Chosen Option : 1

[_ : Question ID : 1860451871

|
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. Status : Answered
| & i i : . Chosen Option : 1

Question ID : 1860451867
Status ; Answered
Chosen Option : 1

T

Question ID : 1860451874
Status : Answered
Chosen Option : 3

Question ID : 1860451873
Status : Answered
Chosen Option : 2

Question ID : 1860451877
. Status : Answered

Chosen Option ; 3
kl—a TRE. F Ry (wf2) 3 She & W ARy whe ket 3 G (e w e
ST E 30k . 2 el g g (B e e 1

https:/ied n4.digialm.comﬂlperlg(] 1/pub/1 258!touchston'elAsse'ssmentQPHTM LMode1/125801 8428/125801 842852D995/1 5446887032474679/ e

2/27



_ Question ID : 1860451876
Status : Answered
Chosen Option : 3

Question ID : 1 860451866

Status : Answered
‘Chosen Option : 2

O Pt T R, S e o

Question ID : 1860451870
Status : Answered
Chosen Option : 1

Question ID : 1860451869

Status : Answered
Chosen Option : 3
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Question ID : 1860451868
Status : Answered
Chosen Option : 1

Section : General Aptitude Reasoning

o 3 A wrlh a dr s g
Ans oF 9
X23
X2
X4 7

Q1 afx s 341285760 & wra TS 3w A Rafy _ : :
W s B Rufy @ ey P Y a‘r!’-'rmﬁﬁa##ﬁ;r 3w By

Question ID : 1860451880

Status : Answered
Chosen Option : 3

X+ J91q5A
V¢ IRI9EA

Question ID : 1860451889
; Status ; Answered
Chosen Option : 4

Question ID - 1860451887
Status : Answered
Chosen Option : 2

4*25*8[;9*49-256;7‘-!6='.‘
Ans X 1. 88
X2 16
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Chosen Option : 3

; ' Question ID : 1860451885
. 3 Status : Answered

25801 842852D995/1 5446887,

Chosen Opuon : i

Question ID : 1860451879
Status : Answered

Qs ﬁ&‘mhﬁﬁm#aﬂrﬁﬁa&ﬁﬁﬁ#mmwmﬁtﬁvﬁwﬁﬁaﬁﬂﬂawmwa

B e kgl . 3
ﬁgmwweﬂmar )

z wﬁﬁmmm#ﬁrymmwamﬁmﬁ

Ans 7 ;

W ma aﬂzm 2 a‘m’f na;mr qaes
X oo e 1 ATELT 2 ot

Chosen Option : 3

Question ID : 1860451884
Status : Answered

Q7 U, vow X, st v i TR o Eo dr YV g A amar VR U s oy
oy sy e ﬁr:mgf,rmt Y By a b & VR g

Chosen Option : 1

Question ID : 1860451886
Status ; Answered

Chosen Option : 2

“Question ID : 1860451878
Status : Answered

Q.9

I
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Question ID : 1860451882
Status : Answered
Chosen Option : 4 .

1 7 R ardt i g 3 T30 i worar & R 8 WA 3 g ¥ 315 - srerar

Ans X’BG m ‘
vV220m ;
X330 m

X445 m

as mﬁﬁmmm,.mt@'m I 3 TR 7 Wt 3 3 § s g 4 m e

——--M“-W:"

dag

Question ID : 1 860451883
Status : Answered
Chosen Option : 2

Question ID : 1860451888
Status ; Answered

Chosen Option : 1

XL s ag
W O3k p

Question ID 1 1860451881
Status : Answered

Chosen Option : 4

=
&l

Section : Surveying

Ittps:flcdn4.digialm.cum!l/per!gm /pub/1 25Bltouchston.eIAssessn‘_le‘ntQPHTMLMode 1M 2580‘1 8428/1 258018428820995/ 1 5446887032474679/...

6/27



~ITTey

Question 1D : 1860451892
: Statys : Answered
" Chosen Option : 4 -

Question 1D - 1860451894
Status : Answered
Chaosen Option : 4

T ——— d mea
Ane K 1. Mettic Chan
X 2 Engineer’s Chajn
V'3 Gunter’s Chain
# 4. Revenue Chain

Question ID : 1860451890
Status : Answered
Chosen Option : 3

S iowerieveltahgherleve!
2 swhole to part.
X 3. part to-whole,
4 Higher level fo lower feye].

A Tbe.-ml.ing-;princ.iple-qf'pia.ﬂges.i:rvﬁyiﬁg is to work from;

Questjon ID : 1860451893
Status : Answered
Chosen C_)ptic_m ol

X 2. 2890.01m?
V2059554 b
74 3us6.4m?

N

https://cdn4.digialm.oomll/perlgo1Ipubl 12Sﬂltou‘chstonelAs.sessmentQPHTMLMode1 /11258
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Question ID : 1860451 891

Status : Answered

Chosen Optio_n -

Ans X 1. plumb bob

X 2 tacheometer

3. plane alidade
V4. telescopic alidade

Q.6 In plane tabfe survey, both horizontal and verticat distances will be obtained directly using !

Question ID ; 1860451895

Status : Answered

Chosen Option : 4

Section Strength of material Structurai Design & Drawing

Ans. Xt i
V2 0397
X 3. 0605
X 4 0308

Q.1 A 6-hour rainfall of 6.ciu at a place A was found to haveq mfu._rn'pg;ioai;of-iioyeam The probabiliiy thar. a 6 hour
rainfall of this or larger magnifude will ocour at least once in 20 successive years is; .

Question ID - 1860451908

Status : Answered

Chasen Option : 2

** Which of the following is NOT g
Ans X 1. Reduction in shrinkage and
X 2 Reduction of weight of the timber
V'3 Reduction of natural defects in timber.
4. Increase in strength and durability,

S gy

Question ID : 1 860451904

Status : Answered

Chosen Option : 3

Ans x 1, Lune

X 2 Dolomite.
Vv .A1203

X a SiOz

43 “The principal chenncafconsﬁmentpresentm argillaceous rock

R

k st

il

Question ID ; 1860451901

Status : Answered

Chosen Option : 3

K2 15125

S0 times the spuriensih,
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Question ID : 1860451911
Status : Answered

Chosen Optiori : 3
- .
Q.5 The short- term modulus of elasticity of ¢ concrete (i N/xmnl’) as perIS 456-2000 is given by:
" 4 ,sooo:a /
X 2.5700.,/;
X 3..3700,

Question ID : 1860451913
Status : Answered
Chosen Option : 1

Q.s ’w Qt;nS:orgﬂanpf agood brick: sheuld‘ﬂdi‘txmd L _ofits dry weight when kept. mmemed I water for
4 hours.

Ans

sl 2 .20%
X 3. 9505
7< 4305

Question ID : 1860451900
Status : Answered
Chosen Option = 2

ar 5 theodolites; the axis of rotation of telescope in the vertical. plane indicates:
Ans X 1 fing: afmﬂunaﬁon

X 2 vertical axis

X3 ‘axis of telescope

of honztmtal axis

Question ID : 1860451898
- Status : Answered
Chosen Option - 4

*? The plage table surve
fne X 1. triangulation

y works based on the principle of:

vz panallelism -
X3 reconnaissance e -
X 4 n-gvag;;mg S ! ' '

Question ID : 1860451896
Status : Answered
Chasen Option : 4 .

Asper1S 45 2000, lhelmrzimumgraiie-_qf cancrete used for severe exposure condition should be:
Ans X 1. MB35 : s :
X2 M0 S [

hﬂps:llcdm.digialm.conﬂ/lper/gﬂ1!publ1 258ltouchstone/AssessmentQF’HTMLMode1// 1258018428/1 258018428820995/ 15446887032474679/... 9/27




Question ID : 1860451912
Status : Answered
Chosen Option : 2

VIR Area_QveIdCifjx'n1e§§}od :
W'z Slope-area method

X 3. Dilution method

X 4 Ultrasonic method

; Which one of the ‘-'f'éilewli'n_g isNOT a dtrecfsﬁ‘eamﬂowmaasltrenlexxttechnlquef’

Question ID : 1860451909

Status : Answered
Chosen Option : 4

Ans %o Wood is not a stiff material,

x 2 Deriser wood is stiffer, B

X 3. Green timber is stiffer than when seasoned.
W 4 :

Structural sizes of timber are éﬁﬁex-':ﬂi.ﬁh-thé;-ﬁlea:iﬂ-s_'n_}éﬁ-isﬁﬂié’:

Question ID : 1860451905
Status : Answered
Chosen Option - 3

Q.1 A hydraulic structure is construcreq Wl:qia‘EﬁﬂS@ppjfﬁpsz‘(l_’S!:}Lufq—_cmal

i of the canal trongh Such # structure is called as
Ans X 1. Level crossing. '

X 2 Super passage
X 3 Inlets
V4. Aqueduci

ilic sty Full$ na lsmchhfﬂwr‘lhml-lrghﬂoed Level
2 (HFL) of the stronm which in furiy is joug. than thie botio, : 4t

Question ID : 1860451910
Status ; Answered

Chosen Option ; 4

Ans X1 6to 129
X 2 3t05%

X 3 1310 159
v'4 0.1100.8%

' Generally, the swei,!mg'-pfss%ba&:mbng;iﬁzé;’“e.ngftii of fibres ranges from:

Question ID : 1860451903
Status ;. Answerad

Chosen Option ; 2

& Mobe's scale is used o determine " of the stop,

Ans }

10727
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Question ID : 1860451902
. Slatus : Answered
Chosen Option : 2

one degree curye?

Question ID : 1860451899
Status ; Answered
Chosen Option : 4

X E;-—ti;ﬁzi}'ﬁzéflf)f
X 4 E=%00257D

Question ID : 1860451897
Status : Answered
Chosen Option - 4

. thie centre of
X 2 :;-ilesr .tz'e;low-:

7 3. coincides with

W <. lies above

Question ID : 1860451907
Status : Answered -
Chosen Option ; 4

Q.1 Aflidi i whwbshenrsmu is mom:tum yield whae nud slmr swessfspmpor&mtaj to shear s srmin is knowyy ey,
8 fluld.
Ans X 1. Tdeat fluid
X 2 Newtonian _
W 5. Ideal plastic ‘ A

X 4 Non‘Newtonian

Question ID : 1860451906
~ Status : Answered
Chosen Opﬂon 2 f I
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C o ETE IS W Lonsuction Material

The test which is NOT used to measu:e the workability ‘oficoncrete is called Y,
Ans X 1. Vee-Bee

X 2 Slump

&3 Compacting factor

¥ 4. Le-chateliers

Question ID : 1860451916
Status : Answered
Chosen Option : 4

ST

Q.2 ‘Water-cement ratio i JS the. ratio of:
Ans o 1. water to cement by weight

X 2 cement to water by weight
X 3. rWﬂfer;to‘-icqmgg@byygl_,__mg
X cementto wate by volume

Question ID : 1860451915
Status : Answered
Chosen Option : 1

GOt
Q.3 Accordm.g 10 1S:456:2000, the exposure condition of concrére surfaces 1o coastal emu-nnmeut completelyis clagsifieqd

¢1 Severe

X 2 Extreme _
X 3 Very severe
X 4 Moderate

Question ID ; 1860451918
Status : Answered
Chosen Option : 1

Q.4 The selation berween the effective modulus E ., shior fermu static modulis £, .; ‘short term statie modtitus &, and creep
coefficient B.of concrete j is given’ bv . ; .

Ans : g

Question ID : 1860451919
Status : Answered
Chosen Option : 3

Q.5 Steel Bbeam theory is: the method used to analysze and in thedesugnof*a design of
* X 1. Column stmcmres only

K 2. Singly reinforeed sections

https:.’lcdm.digialm.com///perlgmlpubﬁ 258ffouchstoneiAssessmentQPHTM LModet//1258018428/ ‘i2580 1842852D895/1 544688703247467...
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V'3 Doubly reinforced sections
X+ Bothi singly & doubly reinforced section

Question ID : 1860451914

Status : Answered -
Chosen Option - 1

Q.6 According fo 15 45¢. 2000, the slump value (in i) of tie concrete used in ordiiary REC wol for bearns and s|
st the range of: e

e X1 25108
X 2 750150
150 to 100

abs etc,

Question ID : 1860451917
Status : Answered
Chosen Option : 1

Section : Solt mechanics & Foundation Engineering

Q-1 The popilation forecasting method \vhich thaf is based o i Assumption that the percentage Inorease n popufation
‘Froutt oae decade ta the othrer decada Felains Constent is calfed Aidethiod: ' :

Ans ¢4 ithmetical increase
¥’z geometrical increase

"

'3 decrease rate of growih

¥

X 4. increme

ntal increase

Question ID : 1860451037
Statqs ! Answered
Chosen Option : 2

of the total £00ss sectional area

Question ID - 1860451922
Status *Answered
Chosen Option : 3

Question ID : 1860451930
Status : Answered
Chosen Option : 1

13/27
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(| %2 Hapid attainment of stretching force
x X f.Safagu_mﬂmgfof-wires iis:-ec.pi;omiga'I.r
X 'Projécﬁdn‘_oiplugg!@f_tfi,i; concrete

Question ID ; 1860451928
Status : Answered
Chosen Option : 2

: s

Q5 A conciaie beaai is pre-stressed by a cible earsylag an iniﬁnlpke-su_e'ssiﬁg-force—ﬁ_f.mp :
the percentage of Joss of stress due to shirinkage hi:revizdaﬁoiiédmdmbe_‘a%? 5

Ans X 1. 33% '

X 2 5304

X3 49

V4 639

Question ID : 1860451931

Chosen Option : 1

Status : Answered

Q.8 The analysis of pmfs:resséd ‘concrete members isbased on which ﬁf&ﬁéféﬂ@ﬁrfng concepts?
Are X 1. Overhead stresses

X 2 Principle stresses

X3 Shear stresses

V' Combined stresses due to direct load and bending stresses

Question ID 1860451925

Chesen Option : 4

Status ; Answered

Q.7 Which of the following coagulants is most commonly used in sedimentation process in water treatment plant?
** X't Albuminoidal nitrogen

X 2. Nitric sulphate

X'3. Potassium sulphate -

V4. Aluminium syiphate.

Question ID : 1860451935

Chosen Option : 4

Status : Answered

St ity

Q.8 The guidelines for Pre-stressed cmacmi;’.::is,;'giirwfby_w'hicl; of the ?fouowui‘gh&mﬁ_-qiiﬁdﬁgéa‘ew codes?
Ans of 1. IS 1343-1980 ‘ : : ‘

X 2 152116. 1980

X5 15269 3015

< 4 18456-2000

—-—H“‘“‘“"#

Question ID : 1860451926

Chosen Option : 2

Status : Answered

1/11258018428/1 25801842852D995/1 544688703247467. .. 14/27
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et A0S Magnel-B}atan | System
W2 .;Hf;)yg;_.-g_.-longﬁme.3}’5?5111.

ntQPHTMLMode1//1258018426/1 25801 8428820995/15446887. %

X 3 Freyssinet system

X 4 Gifford-Udall system

Question ID : 1860451927
Status ; Answered
Chosen Qption : 2

:pipes.

Question ID 1 1860451934
Status : Answered
Chosen thion s

izt ‘spacinig of shear reinforcement lilongdmmunﬁenwmberstmliNO‘rexceed . timesthe .
ot of the section for vemcafsmps

Question ID : 1860451921
Status ; Answered '
Chosen Option - 3

Q.1 “Which of ¢he' ﬁ;ﬂm:g post teasioning svstmn adcrpm tetallic sandwich plates, Alat wedges and distribution'plate for

- ) mnhudngﬁ:e
BN X1 Freyssinet
” 2 Lee-McCall

v &) Magnel-BaImn T
x4 'G!ﬁf@rd?_l}dﬂﬂa

Question ID 1860451929
Status : Answered
Chosen Opnon 1

Q.1 Asper Is 1"333-1980 the nnmmum 28 day. compressive strength for pre-tensioned members is:
2

sl £1 SOmemQ
ks 25 Niaitn?

Question ID : 1860451924
Status : Answered t

https:llcdn4.digialm.oomllfper!blﬁ1/publ1258/touchstonelAssessmemQPHTMLMode1!/1258018428!125801842882099‘)5/1544688703247467... 1bizy -



Chosen Option : 4

Ans X 12,00 and 1.70
v'2 150 and 1.15
X3 1.50 and 1.17
X 4 150 and 1.50

Question ID : 1860451920
Statis : Answered

Chosen Option : 2

Q.1 Accominglsqsﬁfzpoo.ﬂuno;ﬁmﬂg

§  conditions shall NOT be—lesslumm-
Ans X1 30 mm

X2 75mm

X 45 mn

V4 50mm

over provided forthe coneréte Sirfaces exposed to very severs euvlronments]

Question ID : 1860451923
Status : Answered
Chosen Option : 4

Q.1 Asper1s 10500: 190
6 ‘wate?

Ans X 1. 800 mg] | R
V2 600mgl '

X 3 300 mg/]

X 4 500 mg/l

1 what is the petmissibie it ju'thie abséince of alternate sources for the total hardoass of driaking

Question ID : 1860451933
Status : Answered
Chosen Option 12

G Which of the statements s correct in e case of slow sand filters?
™" X 1. They are labour-ntensive,

X 2. They have a largelandrequu‘ement

X 3 They require low turbidity water

¥ 4. They are relatively simple to-operate.

, : " QuestionID : 1860451936
) Status : Answered
Chosen Option ; 4

. oeam with a-straight fendo at & unifor eccantricity below the ceitroidat sis

Q.1 Theupward deﬂectibu_ofq‘pte}st:es_séd beam withi a'straj tdon at & uniform i ceniy ;
8 isgiven by, where-P—eﬂ'ocrive-pm-shessii;g foruje".@-ec:.j-,épuicit;pl-lmgm of the beani, E-Modulus ‘of glasticity, -

moment of inertiz:

i o pardget
X2 _pe1 2145y
K3 perdiism

hltps:/f’cdnd.digialm.comlllperlg(}1lpub/1,258.ftouchslonelAsses‘;smentQPHTMLMode1//1 258018428/125801 842852D995/1 544688703247467. ..
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X4 _perupr

Question ID : 1860451932

Status : Answereg
‘Chosen Option : 1

Section : Concrete Technolagy Reinforced & Pra-strassed concrete

Q.1 E[cngancuo}‘ abar due'y toits selfow ght is coutputed h) - where I+ - lengthiof the. bar, E - Young’s, modulus of
dasucu} and W- fotal weight the bar inaterjal.

Question ID : 1860451948
Status : Answered
Chosen Option : 3

ngstion ID : 1860451953
‘Status : Answered
Chosen Option : 4

Ans o1 ~WI/4sET
Xz widhp

ragt ~§WI.3f384EI

S

Q-3 The deflection of the centre of the simply supported beam canying point load at !hecentxeisgm:nby

Question ID : 1860451954
Status : Answered
Chosen Option : 1

T

Q4 s sxmp’le stmss—stram  test; the volumetric strain i is equal to stram
Ans X 1 tswo times the shear

X 2 three times the shear

X 3. two times the linear

' 4. three times the linear

Question ID : 1860451946
Status : Answered
.Chosen Option : 4 °

RS

Ans- K 1. 115

https:llcdn4.digialm.coml!!perlgﬂTlpubl 1 258/touchstone}AssessmentQPHTMLMode1!/ 1258018428/125801 842852D995/1 544688703247467...

Q.5 Wihat il be tie Studge Votnins fidex:

(SVI)if 100 it of shicige collected i 30 mins. on diying weighs 500 mg>

.
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Question ID : 1860451941
Stalus : Answered
Chosen Option - 4

Q6 A cylinder is considered to be'a “dhila cylinder, if tie thickness to Internal diameter of the ¢ylindiical shellis:
Ans ey greater than 1/10° ' .
X2 .g:eater-_thaa;_l{z{)

X3 lessthan 1/10° :

4. less than 1/20 ;

Question ID : 1860451955

Status : Answered
Chosen Option : 3

hesdiiseias

Q.7 The sirain energy stored ina bodywath sudden-load apphwtim; (ﬁomdnmm :traslndbcadkcheﬁm ﬂmiaduoed
when:

* . thesame load is applied ‘gradually.

X 2. the same load is appiied suddenly
X'3. the same load is applied by as impact.
X 4. the torque of same load "isf-"ap;}ﬁédi

Question ID : 1860451950
Status : Answered
Chaosen Option : 1

A8 Which of the following chmact:l:ses biochemical treatments of sewage effluents?
Ans ' 1. Oxidation

X2 Chlorination

X 3 Sulphonification

X4 Redox

Question ID : 1860451 942

Status : Answered
Chosen Option : 1

Q9 What isthe section mojdul;_zs for a rectangle beam of size 200 muniy x35(}:‘{1111"
e K g3k 108 nd '

X2 5.6% 106 >

X 3521 106 i3

Vi 4.08 x 105 mm3

Question ID : 1860451952
Status : Answered
Chosen Option : 4

18/27
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[Ans 51 Post-chionnahen
X2 Pl&zhloxinahcn
v Dc-cjﬂormanon
X 4 Re-r:hicrmauon

Question ID : 1860451939
Status : Answered
Chosen Option : 3

tQPHTMLMOde‘Il/125801 8428/1258018428520995/1 5446887 ..,

Question ID : 1860451944
Status : Answered
Chosen Option : 2

F g ooagulamn

by et "
Q 1 The best method for eontro!hngtzstemd odor pmblems it water is ;hmug_h _____Ppiocess,
* o ' oxidation
x 2 -':mducnon

Question ID : 1860451 940
" Status: Answered
Chosen Option 1

W¢

sand filter js in the: range Gf

Question ID : 1860451938
| Status : Answered
Chosen Option; 1

Q.1 ‘Thei :emlexuesm ata poini’ ‘across fwo thiutual. perpmdicular - plngs e 150
4 nmml stmu ori the p!ane mclmed at 359 to axis of the nmmr stresses?.

" V19588 K

X5 12864 N2
X 4 12050 Nini?

Nimni® a0d 75 Nigant, Whiat is the

Question ID : 1860451949
Status : Answered
Chosen Option : 3

19/27



|| s tortheclamped - free column, the effective Jongtl Is equal to:

Ans 3¢ ¢ ‘the-actual length

V2 twice the actual length
X3 0.7 times the actual length’
X 4 0.5 times the actual Tengflh

Question ID : 1860451945
Status ;: Answered
Chosen Optian : 2

Ans1.°0,86 mm
2. 0.36 mm
3. 0.50 mm
4.0.76 mm

to all candidates,

Note: For this question, discrepancy Is f'qund in questionlénswer._ Full Marks is being awarded

Question ID : 1860451947
Status : Not Answered
Chosen Option : «

et . ssoetnie s

" X1 When bending moment s maxium.
V2 When bending moment cfianges its sign.
¢ When shear force is zero afer changing s siga

G When does contra flexute poitit occi o i beam?

X 4 When shear force is constant.

Question ID : 1860451951
Status : Answered
* Chosen Option: 2 .

Ans X 18510 -
X210-12
X335.585
Vi 65-74

08-1 For the sludge digestion system 'io.i\vqfkéfi'eqﬁié&ejhé.p}{ of the shudge:shouid be between:

Question ID : 1860451943
Status : Answered
Chosen Option : 2

Section : Hydraulics Hytdrology & Hydraulics Structures

™ X 1. 1850; Bombay and Pune
X # 1875; Kachiguda and Secunderatg
X 9 1880 Deﬂnalldf\gm .

hhps:llcdn4.digialm.comlllper/g01 /pub/q 258)10uchstonelAssessment.QPHTMLMode1// 1258018428/1 258_01 842852D995/1 544688703247467. ..

Q1 The first Indian railway train started iy the year and"ggveﬂéﬁ between
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https:l!odn4.digialm.comlllperlgOHpubH258!touchstone/As

e 1853,Bombay and Thane

sessmentQPHTMLMode‘I/ﬁ 258018428/125801 8428820995/15446887. il

Question ID : 1860451956

Status : Answereg
Chosen Option : 4

Question ID : 1860451950

Status : Answered
Chosen Option ; 1

‘Question ID : 1860451958

Status : Answered ;
Chosen Option : 1

‘Question ID : 1860451960

Status : Answered
Chosen Option : 2

Question ID : 1860451961
Status : Answered -
Chosen Option :1

|
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P e e T 1
| [ans V1 167%6mm : ‘

X 2. 1000 mm-
X3 1435 mm
X 4 1524 mm

Question ID | 1860451957
Status : Answered
Chosen Option : 1

Section : Public Health Enginesring & Water Supply,

Q1 What wit be the dry unic eight (i kovigs? Mora saturated soil. iven that moistis content (iv) = 33% sad pecific
Bravity of'sofl (G) =257 ' L S R

e K1 13.58 s
V2 1208 kN
X3 1108 kv
X 4 10.68 kN

Question ID : 1860451970
Status : Answered
Chosen Option : 1

Q-2 The Mohe-Couloub filue critecion, which is defined by sheat strengds (5) consisting of effectivenonmal sivess (7,
cohesion (¢} and-effective Stress 'amglewéf1\‘z~l¢fiv:r‘.1i('q:»"-)3 is giveis by: X

X2 s=c'tang'+ 0"
X3 s =0 +citang
X 4 §g=pl— U'taﬁ.qa'

Question ID : 1860451973
Status : Answered
Chaosen Option : 1

&3 What is the reason for preferring triaxial shear test over direct shear test?
Ans X 1.
The test provides better correlation for effective stress of angle of friction.
v &3 Gl :
Test can be performed under all three draina ge pmiditi,bn;s-.\\_'_iﬁicompi&e-co;"_il‘irdl
X 3. Stress dis'tribt?t-i;;’h*oﬁ thefaﬂnre p.la’;aé*-ib-MHwﬂifdfh;,_ :
X a

Accurate measurement of pore water pressure and change in volume is not possible during the test.

Question ID : 1860451972
Status : Answered
- Chosen Option : 2

Q.4 According io standard test method ASTM D-4318; the moisture content (the Liquid limit of asoil)is determined by
Casagrande’s liquid device, at Whielra groove closure of ‘oceus at blows.. - -

e 21 12.7mm; 20
V2 27mm s

https://cdn4. digialm.com/ﬂper/gm /pub/1 ZSBItouchstonefAssessmen_tQPHTMLMode 1/1125801 8428/125801 842852D995/1 544688703247467... 22/27
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Question ID 1860451074

Status : Answered
Chosen Option : 2

, Question ID : 1860451962

Status : Answered - 4
Chosen Option : 3 -

X2 F gemycleamnﬁe X
&3 Throwof the switch o

' 4. Heel divergence

" Question ID : 860451967
Status : Answered
Chosen Option : 4

ﬁm—“””_ﬂ“

TR

Question ID : 1860451963
Status ; Answered
Chosen Option : 3

Question ID : 1860451968
Status : Answered
Chosen Option : 2

https Ilcdn4.dlg:alm.comlllperlgo1{publ12SaltouchstonelAssessmentQPHTMLMode1//125801842

8/125801842852D995/1 544688703247467...

I
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5 : . i
| [%° The relative density of granular soils i given by the relation:
Ans ~ A € :
X 1 em!’.ﬂ x. 100
€max T min
Vo e 00
‘mm.- ‘mt
b ) ——— %400
emax-:"" :.gn‘;i‘d '
Rl é
Ka—"=_~ y 100
Crmax t €
Question ID : 1860451969
Status : Answered
Chosen Option : 2
Q 1 The smbdaty of the forniation slope railway tine is generally datermmed by tlie : methoﬂ
Ans X 1. Least square
X 2 Rankine’s
V'3 Slip circle
X Mohr circle
Question ID : 1860451965
Status : Answered
Chosen Option : 2
%" The function of ; a fish plate is'to holc
A"s v 1. Both the honzontal and verti
X 2 Honzontal | plane’ only
X 3. Vertical planezmﬂy
# + Oblique plane ouly
Question ID : 18664.51966
Status : Answered
Chosen Option : 3
Q.1 Ifabroad gauge track s faid Wllhmﬂeepa;f“ﬂh asledper density gf N+, spaciiig of sleeperis 68 cuit and the
2 width of the sleeper is 35.4 e, lben‘ﬂ:edepihu?ﬂle baﬂﬁtmshlon‘rould
Ans X 1.°230 omi :
X2 240cm
v's 213¢m
X4 225em
Question ID : 1860451964
Status : Answered
Chosen Option ; 3
Section Railway Engineering & Railway Track
i
Q1 The load per.uit area of the foundation at wluch ‘shear failuce in seil ocours is called the;
NS 1. Ultimate bearing capacity .
https://cd n4.d|glalm.comlllperlgmipubl'l 258!touchstonelAs_sessmentQPHTMLMode1 11258018428/ 125801842852D995/1 544688703247467 ... 24/27
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?< 3 Bun@mngﬁi;eaxffaﬂ:are
X 4. Shear resistance

Question ID : 1860451974

Status : Answered
Chosen Option : 3

S Lune stahmsatxon is most commonlyusedforstabmzmg

Question ID : 1860451985

Status : Answered
Chosen Option : 2

Ky

anddmppedataimghgar

Question ID : 1860451984

. Status : Answered
Chosen Option ; 2

X2 Depth xs'greaterthan orequa "to 2 nmes the wxdth

qf -5 Degath iessthanor q

. Question ID : 1860451975

Status.: Answered
-‘Chosen Optian : 3

h one.

Ans of 1.

The cedﬁwf_iﬁahcn of the specimen is iso

of the. follomng is a I)EMERII‘ of maxxal ‘test‘?

tmpxc in: the test but amsotropm in the field.

2 _____,,specunen is ﬁ‘ﬁe to fail on. the wealxest plane;

Question ID : 1860451983 -
Status : Answered

; . " Cho'sen Option : 1 / /
https: /lednd. digwlrn oom!llperlgOT/pubM 258Itouchstone/AssessmentQPHTM LMode1//1 258018428/ 1 258018428820995/1 544688?03247467. IR g
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i SRR e
X1 b= ) (sigsi
K2 b)) [0ssingu(ising? o
Vs by [-sing)/(1+sing)
4 b= /) [(-sing) (1 igy?

| [Ans

Question ID : 1860451981
Status : Answered
Chosen Option : 3

Q7 Unified soil classification -system:ié-zﬂmqstfsﬁﬁiiar:io--_____.%‘f?élssf.ﬁ?aﬁ?n-
Ans X 1. AASHTO ' 5
X 2 MIT

Question ID : 1860451978
Status : Answered
- Chosen Option : 4

Q.8 The intensity of vertical siress (@), of the soll just below the foad poit is giveaby » Where Z-vedtical distance
between point load and the polar stress and Q- point load, :

Ans IS Q S j J
v 1. 0.4775 7 :
X2 0.472513'
X 3.0.4775 o

x4 0.4:775"3

Question ID - 1860451982
Status : Answered
Chosen Option : 1

Q.9 Foraso, ifitie sensitivity value varies from 2.004.0, then such a- soil is these soils are classified as:
Ans W M@#iﬁmtelyisﬁnsiﬁ?e- '

X 2 Sensitive

X s Littlésenﬂti}ke_

X 4 Extra sensitive

Question ID : 1860451977
Status ; Answered
Chosen Option : 3

Q.1 Irthe capillary rise in a'soil A with ay effective size of 0,03 M was 60 ey, then what would bethecapxﬂa:ynseﬂnhe
0 similar soil B with an effective size of (.04 oy

A o 1 30em
X 2 35 cm

hitps :/chn4.digialrn.com/lfper/go 1/pub/1 2SBltouchstonelAssessmentQPHTMLMode 1//1258018428/1 25801 842852D995/1 544688703247467. ..
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2114/2019 https:/fedn4. digialm com/liper/g01/pub/1 258Itouchstone/AssessmentQEHTMLModmlf125801 8428/125801 842852D995/15446887. .
: X3 200m
X« 40ecm
Question ID : 1860451979
Status : Answered
Chosen Option : 1
. ;
Q.1 “The fiquid fimi hgetemmedﬁ‘qmﬁasagrpn&e appatetus. The appacifug consists of a ‘semispherical brass eup that s
1 repeate tedly dropped orito @ hard njbbeé'bas'c?froﬁri@ﬁaggnf-nﬁ

Ans <1
X2
X

Question ID : 1860451976

Status : Answered
Chosen Option ; 3

°I<3nﬁmber:s

ngslicr! ID : 1860451980
Status : Answered
Chosen Ogtion : 2

https:h’cdn4.dfgialm.com/l/perlgo1Ipub!1 258/touchstonelAssessmentQPHTMLMode1!/1 258018428/1258018428S2D995/1 544688703247467 ...
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